Warm Up October 8, 2018

Simplify each expression using the correct order of operations:
D 18+7%2—7
2.) Solve: 10m - 3(2m-9) = g(m-1)+1
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3.) It costs Raquen tolls to driga to wg‘k an
back each day, pl e uses@k@fgas. It costs
her ao drive to work and back each
day. How muchpef gallon is Raquel paying for her

gas? How do you know?
X=gost  Bx+ 5 =15.560
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’tm % Finding Consecutive Numbers

back to back, in order

o What does consecutive mean?

e Give examples of the following:

10. The Eum Efli;consecutive lnumber@lzi Find the number
T=ISt#E N+ =133
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11. Thelsum f(twogonsecutive?wmbens|

M=(ST 'ﬂ-l-‘n+l" 85'
=34k &nﬂ 35

cansecutive numbers 2. 3,4, 5,.../N, n+1, n+2, n+3,...
censecutive gven. numbers 2, 4,6,8,..../n,n+2, n+4,....
consecutive odd numbers 1, 3,5, 7,.../?1, n+2, Rvd..
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12. Fin U onsecutiv @umberswhose umlisfea)

&I’n umbe e@ dth numbers.
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14, Th(i sum pf three Jonsecutiveleven humberg is §38. Find the numbers.
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15. The sum fthree consecutlve odd humber{ is}57. What are the three numbEIs?

| o OR=5!
KT =57 3 3 a=19 .
3 M= N =3 )
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MR. WILKS' CHaLLenGel

In cross-country, the team score is determined by the place each individual
runner finishes. (For example 1st place is one point, 16th place is 16 points,
etc.) In their latest meet, Mr. Wilks’ team scored 55 points. If there were
! five runners on the team and each runner finished one after another,

k what places did they each come in?




Test Average Problems

1.) Matthew’s goal is tn his tests in

Algebra, His grades on the first Tour test wer@/ﬁ, D500, 88‘@
and Write and solve an equation to find what score
Matthew must receive on the fifth test to receive an average of

90,
——/- e 35+93+83+9qu4-tx _
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2.) Your test scores arg(75, 93, 90, 82, and @What is the
the next test to achieve and

average of 867
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3.) Suppose Kirk has taken three tests and made 88, 90, and 84.
Kirk wants to know what he needs to make on the fourth test to
have an overall average of 90 so he can make an A in the class.

38T 0+84 +X_ D
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4.) Jim has four test scores of 86, 81, 80, and 75. He wants to
make a B in the class, which means he needs his average to
be an 80. What grade does Jim need to make on the fifth test
to make a B in the class?




